7.55 Graham mentions a question where students are required to find the equation of a line (though he misremembers the line) [Edexel Paper 2, Q22(F), Q3(H)]
[image: ]
19:18 Andrew refers to the first question on one of AQA’s papers [AQA Paper 1(F), Q1]
[image: ]
21:28 Neil mentions a question involving rotational symmetry of an octagon [OCR, Paper 3(F), Q1b]
[image: ]
23:55 Andrew mentions a question about the properties of a rhombus [AQA Paper 3(H), Q13]
[image: ]
24:30 Graham refers to a vector question on the Higher paper [Edexel Paper 1, Q26(H)]
[image: ]
25:47 Graham mentions a question about a bicycle race: [Edexel Paper 1 Q22(F), Q4(H)]
[image: ]
32:06 Graham refers to a question about a tennis court [Edexel Paper 3, Q12(F)]
[image: ]
32:37 Graham talks about a question involving house prices [Edexel Paper 3, Q11(H)]
[image: ]
33:50 Neil talks about a proof question [OCR Paper 5(H), Q15]
[image: ]
35:07 Neil talks about a poorly understood vectors question [OCR Paper3(F), Q12c(ii)]
[image: ]
36:20 Graham refers to a perimeter question with a triangle with sides in the ratio 3:4:5 [Edexel Paper 1, Q8(H)]
[image: ]
37:05 Graham refers to a question about 4 squares and finding co-ordinates [Edexel Paper 1, Q24(F), Q6(H)]
[image: ]
38:30 Andrew talks about an Area Under a Graph question [AQA Paper 3(H) Q24]
[image: ][image: ]
38:50 Andrew talks about a question involving a Venn diagram [AQA Paper 2 (H), Q25]
[image: ]
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15 nis a positive integer.

Prove that 13n+ 3 +(3n — 5)(2n + 3) is a multiple of 6. 41
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8 The perimeter of a right-angled triangle is 72 cm.
‘The lengths of its sides are in the ratio 34 5

Work out the area of the triangle.

(Total for Question 8 is 4 marks)
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25 The Venn diagram shows some information about 150 students.

&= 150 students
C = students who study Chemistry
P = students who study Physics

[

P

The probability that a Physics student, chosen at random, also studies Chenmistry is %

One of the 150 students is chosen at random.

Work out the probability that the student does not study either Chemistry or Physics.

[4 marks]
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Work out J x5
2

Circle your answer.

[1 mark]
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1 (a) Write down the mathematical name of this triangle.
Choose from the list in the box.

isosceles equilateral right-angled  scalene

(a)

(b) Write down the order of rotation symmetry of this regular octagon.

(b)

-1
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13 Tick all the statements that are true for any rhombus.
[1 mark]

The diagonals are lines of symmetry

The diagonals bisect each other

The diagonals are perpendicular

The diagonals are equal in length
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sl ()

Work out 2a+ b as a column vector.

(Total for Question 26 is 2 marks)
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22 Acycle race across America is 3069.25 miles in length.

Juan knows his average speed for his previous races is 15.12 miles per hour
For the next race across America he will cycle for § hours per day.

(a) Estimate how many days Juan will take to complete the race.

Juan trains for the race
‘The average speed he can cycle at increases.
Ttis now 16.27 miles per hour

(b) How does this affect your answer to part (a)?

@

(Total for Question 22 is 4 marks)





